[bookmark: _Hlk35445091]Oticon Ruby Knowledge Check!  20 POSSIBLE POINTS
1. What are the 3 key consumer benefits of Oticon Ruby? 3 total points

Answer: Rechargeability, Sound Quality, and connectivity.

2. True or False:  With SuperShield in Ruby 1, we can tell now patients that there will be no feedback and no gain reductions. 1 point

Answer: False – there still can and will be gain reductions 

3. Name two key differences between Opn S3 and Ruby 1. 2 total points 

Answers (any of these 2):
Ruby includes: SuperShield; CROS/BiCROS Compatibility; no OSN; no OpenSound Booster
Opn S3   includes: OpenSound Navigator; OpenSound Optimizer; SpeechGuard LX; no CROS/BiCROS compatibility

4. True or False: The charger for the Ruby miniRITE R is the same charger used for Oticon Opn S. 1 point
Answer: True
5. Name the 5 styles included in the Ruby family.  5 total points
Answer: miniRITE, miniRITE R, miniRITE T, BTE, BTE PP.
6. Compared to Ruby 1, Ruby 2 DOES NOT have the following features: 3 total points
(select all that apply)
 
a. Speech Rescue LX	
b. CROS/BiCROS
c. SuperShield
d. Rechargeability
e. Transient Noise Management
Answer: Ruby 2 does not have Speech Rescue LX, SuperShield, or Transient Noise Management

7. True or False: Oticon Ruby replaces Oticon Siya in the essential category. 1 point
Answer: False   
8. Name 2 new features in the Ruby family compared to the Siya family.  2 total points

Answers: rechargeability; Velox S platform; SuperShield; CROS/BiCROS compatibility

9. Ruby offers how many colors?    ______________ 1 point
Answer: 5

10. True or False:  Later in 2020, Ruby will add custom in-the-ear styles. 1 point
[bookmark: _GoBack]Answer: FALSE

Oticon Ruby Knowledge Check!


  


20 POSSIBLE POINTS


 


1.


 


What are the 3 key consumer benefits of Oticon Ruby?


 


3 


total 


points


 


 


Answer: Rechargeability, Sound Quality, and connectivity.


 


 


2.


 


True or False: 


 


With 


S


uper


S


hield in Ruby 


1


, we can 


tell now patients 


that there will be 


no feedback and 


no gain reductions


.


 


1 point


 


 


Answer: False 


–


 


there still can 


and will 


be gain reductions 


 


 


3.


 


Name 


two


 


key differences between 


Opn S3 and Ruby 1


.


 


2


 


total


 


points


 


 


 


Answers


 


(any of these 2)


:


 


Ruby 


includes


: 


SuperShield; CROS


/BiCROS Compatibility; no OSN; no O


penSound 


Booster


 


Opn 


S3   


includes


: OpenSound Navigator; OpenSound Optimizer; 


SpeechGuard LX; 


no C


ROS


/BiCROS 


compatibility


 


 


4.


 


T


rue


 


or 


False: 


The charger for the Ruby 


miniRITE R


 


is the same charger 


used


 


for 


Oticon Opn


 


S.


 


1 p


oint


 


Answer: True


 


5.


 


N


ame the 5 styles included in the Ruby fami


ly.


  


5 


total


 


points


 


Answer: miniRITE, miniRITE R, miniRITE T, BTE, BTE PP.


 


6.


 


Compared to Ruby 1, Ruby 2 


DOES NOT


 


have the following features:


 


3 


total 


points


 


(


select all that 


apply)


 


 


 


a.


 


Speech Rescue


 


LX


 


 


b.


 


CROS/BiCROS


 


c.


 


SuperShield


 


d.


 


Rechargeability


 


e.


 


Transient Noise Management


 


A


nswer: Ruby 


2


 


does not have Speech Rescue


 


LX, 


SuperShield


, 


or


 


Transient Noise 


Management


 


 


7.


 


T


rue or 


F


alse


: Oticon Ruby 


replaces


 


Oticon Siya in the essential category.


 


1 point


 


Answer: False   


 


8.


 


N


ame 2


 


new 


features 


in 


the 


Ruby


 


family


 


compared to the 


Siya


 


family


.


 


 


2


 


tot


al


 


points


 


 


A


nswers: 


rechargeability; 


Velox


 


S platform; Super


S


hield; 


CROS/BiCROS


 


compatibility


 


 


9.


 


Ruby offers how


 


many


 


colors?


   


 


______________


 


1 point


 


Answer: 5


 


 


10.


 


True or 


Fa


lse: 


 


Later in 2020, Ruby will add custom 


in


-


the


-


ear 


styles


.


 


1 point


 


Answer: FALSE


 




Oticon Ruby Knowledge Check!    20 POSSIBLE POINTS   1.   What are the 3 key consumer benefits of Oticon Ruby?   3  total  points     Answer: Rechargeability, Sound Quality, and connectivity.     2.   True or False:    With  S uper S hield in Ruby  1 , we can  tell now patients  that there will be  no feedback and  no gain reductions .   1 point     Answer: False  –   there still can  and will  be gain reductions      3.   Name  two   key differences between  Opn S3 and Ruby 1 .   2   total   points       Answers   (any of these 2) :   Ruby  includes :  SuperShield; CROS /BiCROS Compatibility; no OSN; no O penSound  Booster   Opn  S3    includes : OpenSound Navigator; OpenSound Optimizer;  SpeechGuard LX;  no C ROS /BiCROS  compatibility     4.   T rue   or  False:  The charger for the Ruby  miniRITE R   is the same charger  used   for  Oticon Opn   S.   1 p oint   Answer: True   5.   N ame the 5 styles included in the Ruby fami ly.    5  total   points   Answer: miniRITE, miniRITE R, miniRITE T, BTE, BTE PP.   6.   Compared to Ruby 1, Ruby 2  DOES NOT   have the following features:   3  total  points   ( select all that  apply)       a.   Speech Rescue   LX     b.   CROS/BiCROS   c.   SuperShield   d.   Rechargeability   e.   Transient Noise Management   A nswer: Ruby  2   does not have Speech Rescue   LX,  SuperShield ,  or   Transient Noise  Management     7.   T rue or  F alse : Oticon Ruby  replaces   Oticon Siya in the essential category.   1 point   Answer: False      8.   N ame 2   new  features  in  the  Ruby   family   compared to the  Siya   family .     2   tot al   points     A nswers:  rechargeability;  Velox   S platform; Super S hield;  CROS/BiCROS   compatibility     9.   Ruby offers how   many   colors?       ______________   1 point   Answer: 5     10.   True or  Fa lse:    Later in 2020, Ruby will add custom  in - the - ear  styles .   1 point   Answer: FALSE  

